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Ao Draw the moment amd shear diagram for the beam in the figure
J010%) Determine the displacement of point 3 on the beam by
negralion. 1O

4. What is the Castigliano’s theorem{(5%) Use Castigliano’s theorem Lo
determine the displacement of poit I35 on the beamdligure 3).(15%)
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Figure 3 Figure 4
5. The sohd rod i the figure 4 has o radius of 0075 in. IF it is subjected
o the leading shown, determime the stale of stress at point A3 0%:)
(Note: Point A is subjected (o the combine loading with normal force,
shear Torce, bending moment ald worsional moment, 340 7 5] #3834
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6 Li Ming a weight to a heipht of 20 m takes 20 s for one crane and 10 s [or another. s

Uhere any dillerence oy the ool of work done on the weipht by cach crane?( 1 01%4)
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